=
FESRRUARN  (ESHIBRE) — -
FEXD T a0 Fi& wRE =8 S RETI] T1& RE =8
Hea N |12 |31 (1822 (9-22) 9-12) | (13-17) [ (18-22) (9-22)
Ty 11,500 | 21,000 | 25500 51,000 20,000 | 28000 | 37,500 76,500
ZEEMA AR X50% 5,750 10500 | 12,750 25,500 10000 | 14,000 | 18750 38,250
UNRIEE RIBRIXT0% 8050 | 14700 | 17.850 35,700 14000 | 19600 | 26,250 53,550
ASRNE  FIARIX140% 16,100 | 29400 | 35700 71,400 28000 | 39,200 | 52,500 107,100
KB «Bw ZroA 14,000 | 25000 | 30,500 61,000 22500 | 35000 | 45000 91,500
be —— Z6EMA AR X50% 7,000 12,500 | 15250 30,500 11,250 | 17500 | 22,500 45,750
4 UN\RE FIBBXT0% 9800 | 17500 | 21,350 42,700 15,750 | 24,500 | 31,500 64,050
5 ABRNE FAKRX140% 19600 | 35000 | 42,700 85,400 31,500 | 49000 | 63000 128,100
2 HE3 TA 300 300 300 900 300 300 300 900
i BE4 9A 300 300 300 900 300 300 300 900
3 BED 3A 250 250 250 750 250 250 250 750
i HE6 3A 250 250 250 750 250 250 250 750
Ty 1,800 3,300 3,900 7,800 2,400 4,500 6,000 11,700
ARG RIBRIX140%| 50, 2,520 4,620 5,460 10,920 3,360 6,300 8400 16,380
IR N=RE==E peon 2,100 | 38900 | 4800 9,300 2,700 | 5400 | 7,500 13,950
ASRN0E  FIARIX140% 2,940 5,460 6,720 13,020 3780 7560 | 10500 19,530
1 EA 3A 150 150 150 450 150 150 150 450
B% i HE2 3A 150 150 150 450 150 150 150 450
NIVFIN=INZAZANR—=Z(A) - 900 1,000 1,000 2,900
NILFIN=INZAZNR—=Z(B) - 650 700 700 2,050
CILFI A=/ SZAR—Z(O) — 400 450 450 1300 VIFI=/ )1_2_87‘@’}[%12?5-9@ T REBIC
~) 1’527\\; /_\§ zr,\/l\f) AD 15A 650 800 800 2,250
BER(RED 1 EYN 400 700 850 1,950 600 1,050 1,300 2,950
wE=2, IEEFMA 26N 900 1,800 2,100 4,800 1,500 2,600 3,100 7,200
ih BER(RED 2 13A 500 950 1,100 2,450 800 1,350 1,600 3,750
11: HE=(RED 3 13A 500 950 1,100 2,450 800 1,350 1,600 3,750
PE& BE=E(ZZED4 3A 350 600 750 1,700 500 900 1,150 2,550
MR (RED TA 500 950 1,150 2,600 800 1,400 1,700 3,900
mRFv> 1 — 17A 5300 (£f& « BIRNDH2,650) 7,950 CEfE » BIRO#F3,970)
MIVR—ILOREEIR, RBRT—IEFATBIHE0AERDFET, (Bf1=M)
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